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Seat �o.: _____                                                      Enrolment �o.______ 

   

GUJARAT TECH�OLOGICAL U�IVERSITY 

Diploma Sem-II examination June 2009 

Subject code:  320008                            Subject �ame: Mechanical Drafting  

Date: 29/6/2009                             Time:  10:30am-1:30pm 

               Total Marks: 70 

Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

 

Q.1 (a) Draw the projections of a cone base 45mm and axis 65mm long, 

when it is resting on the H.P. on a point on it’s base circle in such a 

way that one of it’s generator is perpendicular to H.P. and the plan of 

it’s axis makes an angle of 45 with V.P.. 

06 

 (b) A right square prison edge of the base 30mm and height 65mm rest 

on one of it’s base corner on H.P., with it’s axis inclined at 40  to 

H.P..If the plan of the axis is making an angle of 35 with V.P. then 

draw the projections of the given square prism. 

06 

 (c) State advantages of Autocad programming. 02 

Q.2 (a) Fig.1 shows two views of an object. Using projection method. Draw 

following views. 

1) Sectional front view(S-S) 

2) Left hand side view.  

07 

 (b) A vertical square prism having side of the base 30mm and axis 

80mm long is penetrated by a horizontal square prism of same size of 

the base, in such a way that the axis of both prism are perpendicular 

to each other. Side of the base of vertical prism are equally inclined 

to V.P. and side of the base of penetrating prism are equally inclined 

to H.P.. Draw the projections showing lines of intersection. 

07 

  OR  

 (b)      Draw two views of each parts of knuckle joint assembly shown in 

Fig.2.Give proper dimensions. 
07 

Q.3 (a) 

 

 

 

 

 

 

A square pyramid having 40mm base side and 65mm height is 

standing on it’s base on H.P.. Such that it’s base sides makes equal 

angle with the V.P.. A section plane inclined at 45  to H.P. and 

perpendicular to V.P. is cutting this pyramid by passing through the 

midpoint of the axis of pyramid. Draw F.V., sectional T.V. and True 

shape of the section.  

08 

 (b) 

 

 

 

 

Draw following views of an object shown in Fig.3 (see from            

arrow X). Use 3rd angle method.                                                         

1) F.V.(see from arrow X) 

2) Left hand side view 

06 

 

 

 

 

  OR  

 

Q.3 

 

(a) 

              

                                     
A cylinder of 50mm diameter and 70mm long is standing on it’s base     

on the H.P.. It is cut by a section plane which makes an angle of 45  

to H.P. and passing through a point on it’s axis 25mm below the top-

base. Draw front view, True shape of the section and sectional T.V..                            

 

08 
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 (b) 

 

Define following(with diagram): 

1) Clearance Fit  2)   Transition Fit  3)   Basic Size 

06 

Q.4 (a) Draw development of remaining part of an object in Fig.4.                           08 

 

 (b) In a drawing fit is represented as 60H7g6. Draw the figure for fit and 

find following. 

1) Max. and Min. Limit for hole. 

2) Max. and Min. Limit for shaft.  

3) Tolerance on hole and shaft. 

4) Typr of fit. 

06 

  IS-919 state following limits for 60mm diameter in microns. 

 

 Upper limit Lower limit 

          H7           25        00  

 

            g6          -09       -25   

                                     OR  

Q.4 (a) Draw welding symbol showing complete information on drawing. 08 

 (b) Using given information draw surface roughness symbol. 

1) Surface roughness limit : 12µm 

2) Process of preparing surface: Grinding 

3) Length of sampling: 3.5 mm 

4) Machining allowance: 2.5 mm 

06 

Q.5 (a) Explain following autocad commands with statement and their use. 

Line, Circle, Offset, Ellipse. 
08 

 (b) In an electric circuit power P=I²R.Draw a nomograph were P=Power 

in KW, R=resistance  0-200 ohms range 

I=Current 0-10 ampere range. 

Find power P for R=100 and I=8 using above nomograph.  

06 

                                                         OR  

Q.5 (a) Write AutoCAD program to draw Fig.5.  08 

 (b) Draw  symbols of the following: 

1) Vacuum line 2) Refrigerant line 3) Square butt joint 

4)  Concave weld surface 5) Spot weld 6)  Plug weld 

 06 

;}RGF;}RGF;}RGF;}RGF: 
1. AWFH 5|`GF[GF HJFA VF5JF OZHLIFT K[PAWFH 5|`GF[GF HJFA VF5JF OZHLIFT K[PAWFH 5|`GF[GF HJFA VF5JF OZHLIFT K[PAWFH 5|`GF[GF HJFA VF5JF OZHLIFT K[P.  
2. H~Z H6FI tIFH~Z H6FI tIFH~Z H6FI tIFH~Z H6FI tIF\\\\ IYF IF[uI WFZ6FVF[ AF IYF IF[uI WFZ6FVF[ AF IYF IF[uI WFZ6FVF[ AF IYF IF[uI WFZ6FVF[ AF\\\\WJLWJLWJLWJL. 
3. HD6L AFH] NXF"J[, VFHD6L AFH] NXF"J[, VFHD6L AFH] NXF"J[, VFHD6L AFH] NXF"J[, VF\\\\S0F 5|`GF[GF 5}ZF U]6 NXF"J[ K[PS0F 5|`GF[GF 5}ZF U]6 NXF"J[ K[PS0F 5|`GF[GF 5}ZF U]6 NXF"J[ K[PS0F 5|`GF[GF 5}ZF U]6 NXF"J[ K[P 
4. 5|`G5+GL V5|`G5+GL V5|`G5+GL V5|`G5+GL V\\\\U|[HL 5|T VFWFZE}T U6JLPU|[HL 5|T VFWFZE}T U6JLPU|[HL 5|T VFWFZE}T U6JLPU|[HL 5|T VFWFZE}T U6JLP 

5|`GP!5|`GP!5|`GP!5|`GP! sVf ૪૫ એમ.એમ પાયાનો �યાસ અને ૬૫ એમ.એમ ધ�ર િન લ�બાઇ વાળા શ�ું 

તનાે   પાયાના વ�ળુ   પરનો એક "બ#$ુ પર એચ.િપ ઉપર એિવ �રતે ઉભો છે

ક) *િથ તનોે  એક જનરટર)  એચ.િપ ને લ�બ થાય અને તિને  ધ�ર નો .લાન 

િવ.િપ. સાથે ૪૫ નો /ણોુ  બનાવે છે. આ શ�ું ના 234પોે  દોરો 

06 

 sAf ૩૦એમ.એમ પાયાિન બા8ુ અને ૬૫એમ.એમ ઉચાઇનો એક િનયિમત 

ચોરસ િ29મ તનાે  પાયા નો એક /ણાુ  પર એચ.િપ મા પળલોે  છે.તિને  

ધ�ર એચ.િપ સાથે ૪૦નો /ણોુ  બનાવે છે. જો તિને  ધ�ર નો .લાન િવ.િપ. 

સાથે ૩૫ નો /ણોુ  બનાવતો હોય તો આપલાે  િ29મ ના 234પોે  દોરો.  

06 

 sSf ઓટોકડ)  2ો=ાિમ>ગ ના ફાયદા લખો 
 

02 
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5|`GPZ5|`GPZ5|`GPZ5|`GPZ sVf આBિત ૧ મા એક વ9�નાુ  બે દખાવો)  દશાવલા ે  છે. 234પણિને  તજે  �રતે 

JFપ�રને તનાે   િનચનાે  દખાવો)  દોરો.      

 

  ૧. છદાDમકે  સામનોે  દખાવ) (છદે  એસ.એસ) 

૨. ડા"બ બા8નોુ  દખાવ)  

 

 sAf ૩૦ િમિમ પાયાિન બ8ુ અને ૮૦ િમિમ ધ�રિન લ�બાઇવાળા એક ઉભા 

ચ�Gકોણુ  િ29મને એજ પાયાનો "બજો િ29મ એિવ �રતે છદે ) છે. *િથ બHે 

િ29મોિન ધ�ર એ"બIને કાJ/ણુ ુ ે $ભાગુ ે છે. ઉભલાે  િ29મિન બિધ બા8ઓુ  

ઉ"ભ સપા�ટ સાથે અને છદતાે  િ29મિન બિધ બા8ઓુ  આ�ડ સપા�ટ સાથે 

એક સરખા /ણાુ  બનાવે  છે. િ29મના 24ેપો દોરો અને છદને  રખાઓ)  

દશાવો .  

 

  VYJFVYJFVYJFVYJF  

 sAf  આBિત – ૨ મા આપલે નકલ સાધાના જોડાણનો ઉપયોગ ક�ર ને િવિવધ 

ભોગના બે દખાવ)  દોરો અને યોKય માપ આપો. 

 

5|`GP#5|`GP#5|`GP#5|`GP#    

 sVf ૪૦ િમિમ પાયાિન બ8ુ અને ૬૫ િમિમ ઉચાઇવાળો એક ચોરસ િપરાિમડ 

આ�ડ સાપા�ટ પર એિવ �રતે ઉભો છે ક) *િથ તનાે  પાયાિન દરક)  બા8ુ ઉ"ભ 

સાપા�ટ સાથે સરખા /ણૂા બનાવે. એક છદકે  સપા�ટ ક) * આડM સપાટM 

સાથે ૪૫ નો /ણોુ  બનાવે છે અને વી.પી. ને લ�બ છે. તે િપરિમડ ની 

ધરMના મOય "બ#$ુ મા  થી પસાર થઇ ને આ િપરાિમડ ને કાપે છે. *નો 

સામનોે  દખાવ) . છદે  વાળો   ઉપર નો દખાવ)  અને છદે  નો ખરો આકાર દોરો. 

 

 sAf આBિત ૩ મા આપલે વ9� ુના િનચનાે  દખાવો)  દોરો.(થડ  Pગલ �રત 

JFપરો) 

 

  ૧.  સામનોે  દખાવ) (એરો 4 થી 8ઓુ )      ૨.  ડાબી બા8નોુ  દખાવ)    

  VYJF VYJF VYJF VYJF   

5|`GP#5|`GP#5|`GP#5|`GP#    

 sVf ૫૦ િમિમ �યાસ અને ૭૫ િમિમ ધરM વાળા એચ.પી. મા તનાે  પાયા પર 

ઉભલોે  નળાકાર આડM સાપાટM સાથે ૪૫ નો /ણોુ  બનાવી મથાળા થી૨૫ 

મી.મી. િનચનાે  ધરM પરના "બ#$ુ મા થી પસાર થતી સપાટMને કાપે છે. 

તનોે  સામનોે  દખાવ)  દોરો.છદનોે  ખરો આકાર અને છદવાળોે  ઉપરનો 

દખાવ)  દોરો.  

 

 sAf �યાRયા લખો.(આBતી સાથે)  

  ૧. 3લીયરસં  �ફટ   ૨. Sાઝીસનં  �ફટ   ૩. બઝીકે  માપ�  

5|`GP$5|`GP$5|`GP$5|`GP$ sVf આBતી ૪ મા આપલે ભાગનો િવ9તાર દોરો.  

 sAf એક UોVગમા �ફટને એચ૭W૬ વડ) દશાવવામા  આવલે છે. �ફટ ની 

આBતી દોરો અને િનચનીે  િવગત સોધો. 
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  ૧. હોલ માટ) વધારામા વધાર) અને ઓછામા ઓછM "લિમટ. 

૨. શાXટ માટ) વધારામા વધાર) અને ઓછામા ઓછM "લિમટ. 

૩. હોલ અને શાXટનો ટોલરસં . 

૪. �ફટ નો 2કાર. 

 

  આઇ.એસ ૯૧૯મા થી ૬૦ મી.મી. �યાસ માટ) વીચલન માઇZોનમા 

િનચે 2માણે છે.  

ઉOવ  િવચલન અધ િવચલન  

એચ.૭ 
           ૨૫          ૦૦   

W.૬            -૦૯         -૨૫ 

 

  VYJFVYJFVYJFVYJF     

5|`Gv$5|`Gv$5|`Gv$5|`Gv$    

 sVf ડોVગમા વે[\ડ]ગ િવશનીે  સ�^ણુ  મા�હતી દશાવિત  સ_ાનીં  આBિત 

દોરો અને દરક)  મા�હતી લખો.  

 

 sAf િનચનીે  િવગતો દશાવીન ે સરફસ)  રફનસે સ_ાં  દોરો  

  ૧. સરફસ)  રફનસે "લિમટ – ૧૨ માઇZો મી.મી. 

૨. સરફસ)  બનાવવાની 2�Zયા – =ાV�ડ>ગ  

૩. સમ`.લ]ગે  લ�બાઇ – ૩.૫ મી.મી.�                             

૪. મિશિન>ગ અલાaસ – ૨.૫ મી.મી.� 

 

       

5|`Gv55|`Gv55|`Gv55|`Gv5    

 sVf િનચે આપલાે  ઓટોકડ)  કમાડિનં  વાb રચના અને ઉપયોગ સમIવો.  

  લાઇન     વ�ળુ      ઓફસટે    cડાઆકાર     

 sAf ઇલ[3Sકે  સર�કટ મા પાવર – આઇ*આઇ*આર માટ) યોKય નોમો=ાફ 

દોરો. 

 

  dયા િપ – પાવર �કલોવોટ મા.   આર- અવરોધ ૦-૨૦૦ ઓe 

ચ"લત� આઇ-કરટં  ૦-૧૦ એf�પયર ચ"લતદોરલ)  નોમો=ાફ નો 

ઉપયોગ કરM આઇ-૮ અને આર-૧૦૦ ઓe માટ) પાવર પી ની 

�ક�મત શોધો. 

 

  VYJF VYJF VYJF VYJF      

5|`Gv55|`Gv55|`Gv55|`Gv5    

 sVf આgિત ૫ દોરવા માટ) ઓટોકડ)  2ો=ામ લખો.   

 sAf િનચે આપલીે  સ_ંાઓ દોરો.  

  ૧.વhમે ુ  લાઇન  ૨. રફરMજરટ) ં  લાઇન  ૩. 93વરે  બટ વ\ડે  

 ૪. કોનકવ)  વ\ડે  સરફસ)    ૫. 9પોટ વ\ડે    ૬. .લગ વ\ડે  
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